Gas spring G 20-40 V2

Extension force F1 300 - 5000 Newton

Progression 40 %

Piston rod @20 mm, W. 1.4305/ AlSI 303
Cylinder @ 40 mm, W. 1.4301 / AISI 304
Threads W. 1.4305 / AISI 303

M14x1.5

M14x1.5

|
@20
4

15

15

L2

@25
@
i
=
\

14

D27

56

314 sw22

9
25

I

i
]\_/
=

|

\

57

Details

Standard strokes H (mm)
70, 100, 120, 150, 180, 200,
250, 300, 350, 400, 500

Standard length GL
L=2xH+ 138
GL=L+L1+1L2

Standard including
Valve in base plate

Extras

1 - Wiper ring

2 - Radial valve

4 - Grease chamber

6 - Protection tube

7 - Floating piston

B3 - Sealing system

NT - Low-temperature design
HT - High-temperature design

M14x1.5

=

M10x1

28

M14x1.5

@32

26

www.hahn-gasfedern.de 08/2009



